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- PREFACE

Most of the world is wrestling with economic problems. Following the widespread
economic weakness beginning in 1990, the recovery has been weak. Growth in the major
industrial countries has been hesitant and much lower than expected a year ago.

Canada is only slowly recovering from a painful and prolonged world recession. The
economy remains weak and people and businesses everywhere are deeply worried about
what the future holds.

In these difficult times, Canadians look to government at all levels to help build solutions.
This document is part of that process. It has three goals:

e  First, to highlight the real nature of our economic dilemmas and how the federal
government is responding to this weakness;

* Second, to discuss the limits to what the government can do given a taxpayer burden
that is already very heavy; and

 Third, to explain why the best route out of our current problems must be based on
policies that look ahead to Canada’s medium-term needs, rather than short-term
"quick fixes”.

To create jobs and boost our standard of living — and to assure real opportunities for the
next generation — we must make sure that the actions we take today do not leave us
weaker tomorrow.

This means investing in productivity. Productivity is a measure of how efficiently the
economy produces goods and services. Since the late 1970s, Canada’s productivity growth
has been weak. When productivity grows, real incomes grow.

Stronger productivity growth is essential if we are to meet the challenges of an
increasingly competitive world economy this decade and beyond. Without a recovery in
productivity growth, we won't be able to sustain strong growth in our standards of living.
Raising Canada’s productivity growth requires that all stakeholders in the economy work
together so we can invest more in capital, technology, education and worker skills.
Governments can play a role in helping this happen:

¢ By establishing a climate that supports and rewards productive investment;

* By helping Canadian workers and businesses adjust to the economic restructuring that
is now taking place; and

* By creating the secure trading opportunities that allow Canada to increase its sales to
world markets.
The government is doing all these.

e It is improving the climate for investment by getting inflation down, creating the
conditions for sustainably lower interest rates and controlling government spending.

o It has reformed the tax system.
e It is reorienting its labour-market support towards provision of training and help
in adjusting.

e Itis getting government out of markets through deregulation and privatization.
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e Anditis entering into trade agreements that secure Canada’s access to its export
markets.

In the following pages, this document:

e Identifies the very serious nature of our poor productivity performance of the past
two decades;

e  Explains how increasing investment — in people, capital and technology — is the key
ingredient in the recipe for higher productivity (Chart 1);

* Highlights the role of the governiment’s policies in creating an environment which
favours investment.

»  TFirst, government must create a stable environment of low inflation and low
budget deficits.

¢ Second, government must become more efficient and less costly. This means
working to reduce the direct costs shouldered by taxpayers, and also the indirect
costs imposed by unnecessary rules and regulations — including ”disincentives”
that discourage investment or work.

¢ Third, government must create the trade opportunities, both outside of Canada and
within our own economy, for businesses to expand their production.

With these policies Canadians can expect to see a steady improvement in their standard of
living. And we will retain our status as the best country in the world to live in — and one
that can offer us and our children outstanding potential for a prosperous, secure future into
the 21% century.

Increasing Canadian living standards |
requires

ncreasing Canadian productivity
which requires

Raislng investment in
people

physical capital
technology

which requires

Creating a stable Raising
macroeconomic living standards
environment through trade

Keeping Making government
inflation low mare efficlent
Lowering

under control Deregutation Framework barriers in
privatization policies Canada
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e Over the past decade, Canada’s total factor productivity growth has been among the
worst in the G-7.

* A consequence of this growth slowdown is that, since 1980, every other G-7 country
has achieved a gain in the level of its productivity relative to that of Canada.

o If Canada were to stand still, then other countries will surpass us in productivity and
living standards.
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What government has done

The federal governiment comlmts substantlal funds to labour market programs, chiefly
for income support known as “passive” programs.

A number of our major competitors direct a greater proportion of resources to “active”
programs such as apprenticeship and training programs.

As part of its Labour Force Development Strategy, in 1990, the federal government
modified the unemployment insurance system to move from “passive” towards more-
effective, "active” support for unemployed workers.

e The Unemployment Insurance Act was amended to reduce work disincentives by
making it harder to qualify for benefits — especially for those who quit their jobs —
and decreasing the duration of benefits.

*  Most of the savings from these amendinents were redirected into developmental
programs which help retrain workers and upgrade skills.

In total in 1992-93, the federal government will spend $3.55 billion for worker adjustment,
over 50 per cent more than the $2.3 billion spent in 1990-91.

The Canadian Labour Force Developiment Board was established to review and make
recommendations on all labour-market matters including strategies for using
unemployment insurance funds for training Canada’s unemployed.

More needs to be done

The federal govermment seeks to build on the Labour Force Development Strategy in
two ways.

e Funds for ”active”, developmental purposes will be increased from $1.95 billion to
$2.1 billion in 1993.

e Small businesses that increase employment will be entitled to a one-year holiday from
their unemployment insurance contributions for those new jobs.

e Sectoral training councils will be put in place to help workers and firms develop and
implement training practises which will take advantage of new opportunities.

Provinces also generally recognize that their social assistance programs could be improved
by emphasizing retraining those on social assistance who need new skills to get good jobs.

The welfare reform experiments developed jointly by the federal government and the
governments of New Brunswick and British Columbia represent a first step in this
direction. They will supplement the earnings of low-incoime families or build on existing
mechanisms to improve education and skill levels.
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CHARTING THE CHANGES

¢  Qlder Canadians will constitute a larger proportion of the labour force in the
decades ahead.

o In fact, about two-thirds of the labour force in the year 2000 are in the labour force
now. To upgrade their skills will require on-the-job training or retraining programs.

e  Private sector spending on training and education in Canada is low by international
standards. It will have to be improved if the workers already in the labour force are to
become more productive.
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What next?
Clearly, more needs to be done to improve Canada’s investment record. The private sector
must provide most of this increased investment. The govemment must continue to act in
a fiscally responsible manner to ensure that businesses have the confidence and funds to
invest in Canada'’s future.

e To encourage more R&D in the private sector, the federal government has enriched
the scientific research and experimental development ([SR&ED) tax credit system.

* The government is considering the recommendations of the Steering Group on
Prosperity to bring depreciation allowances on high technology purchases into line
with their short service lives.

»  Governments should examine closely the opportunities for further public investment.
The federal government, in co-operation with the provincial governments, plans to
intensify its efforts to improve Canada’s transportation and communications
infrastructure. As noted in the action plan from the Steering Group on Prosperity,
improving Canada’s infrastructure will make the economy more efficient and industry
more competitive.
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CHARTING THE CHANGES
Investment increases as a share of GDP, but is still low by G-7 standards
¢ Total investment, as a share of output, increased significantly in the late 1980s.

*  The increase was most evident in investment in machinery and equipment.

Machinery and
equipment

Non-residential
construction
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Inflation is unfair

* Inflation redistributes income unfairly. Low inflation means better and more equitable
protection of standards of living for every Canadian.

¢ What would happen to the income of a retired individual who must get by on a fixed
pension of $10,000 a year? After 20 years of inflation, that income would be worth:

s $1,220 after average annual inflation at 10 per cent;
*  $4,420 at 4 per cent;
e $8,180 at 1 per cent.
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Inflation does not lead to more jobs

e Low inflation and low unemployment go hand in hand.

» This experience is not unique to Canada. Look at France, the United Kingdom and
Italy, at the top of the unemployment stakes with Canada; look at low-inflation Japan
at the bottom. Low-inflation countries had the best unemployment performance while
high inflation countries had the worst.
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Canada’s competitiveness has improved remarkably
» Inflation pressures have fallen sharply in Canada in the past two years.

*  Growth in labour productivity is up sharply while wage increases have slowed.
As a result, growth in unit labour costs is now almost a quarter of what it was
in 1990.

e Inflation, as measured by the CPI, is now at levels not seen consistently this low
since the early 1960s.
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- ~ Inflation has declined markedly

Canada has made great progress in getting inflation down.

In October, CPI inflation was 1.6 per cent and inflation has been near or below this all
year. Today’s CPI inflation rate is lower than the average annual rate of inflation
recorded in any single year since 1962.
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e Canadian CPI inflation is now the lowest among the G-7 countries.
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Low inflation is starting to pay off

e Over the past two years, Canadian interest rates have fallen faster than those in the
United States and most other G-7 economies.

* In August of this year, Canadian short-term and long-term interest rates reached their
lowest levels since the mid-1970s.

¢  Since then, a weak dollar has reversed some of the decline but rates remain well below
their levels of two years ago.

e Low inflation is paving the way for interest rates to resume falling. But the benefits
will be only fully realized as fiscal deficits and debt are controlled.
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Furthermore, Canada’s deficit performance compares favourably with that of the United
States. In 1984-85, Canada’s operating deficit was twice as large, relative to GDP, as the
United States’. By 1991-92, Canada had increased its operating balance by 2.7 per cent of
GDP to reach a surplus of one per cent of GDP. The improvement in the U.S. operating
balance was markedly less pronounced, rising only 0.8 per cent of GDP.

Despite these achieverments, however, the fiscal imbalances of the 1970s and early 1980s
still linger on. Rapid growth of debt charges has absorbed much of the fiscal gains from
prograim spending restraint.

Despite a clunulative operating surplus of $20 billion since 1984-85, the national debt has
more than doubled since that time to $423 billion by 1991-92.. The entire increase in the
debt is due to the compounding interest on the debt already owed in 1984-85.

What still needs to be done
Even further expenditure reductions are needed. Although the governiment has achieved
substantial operating surpluses, this is still insufficient to stop debt from growing faster
than GDP.

. Expenditures will come down sharply as a share of GDP if kept within the limits
established in the Spending Control Act.

To meet pressing new needs in higher-priority areas such as investment in training,
technology, and infrastructure, the government will have to reduce existing spending
commitments.

As the economy strengthens, government revenues will increase. The progress that has
already been made on reducing the deficit will be renewed.

Those who call for more government spending are simply inviting a repeat of the mistakes
made in the 1970s and early 1980s. The experience of those years has demonstrated that
debt financing of government spending simply increases future tax burdens because higher
government spending 1must always be paid for by higher taxes.
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CHARTING THE CHANGES

Deficits in the 1970s and early 1980s led to burgeoning debt

e Federal debt piled up rapidly in proportion to GDP over the mid-1970s and early 1980s.
This undid the good job of running it down after the large deficits caused by the
1939-1945 war effort.

e The growth of debt slowed markedly after the mid-1980s.
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e The growing debt came about when structural imbalances between expenditures and
revenues developed during the 1970s and early 1980s.

e By 1984-85, the government was spending on programs $1.33 for every dollar of
tax revenue.

e As a result of this imbalance, deficits soared.

3
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Rising debt means rising interest payments

*  After 1974-75, deficits developed a strong momentum, as interest payments used up
more and more of the available revenues.

e Interest payments on the debt became the largest costs of government — larger than the
cost of all major transfers to individuals.
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All levels of government have deficit problems

e  Provincial governments now make a large contribution to the total government
deficit.

e In 1991-92 provincial deficits will be about $21 billion.
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Canada’s fiscal position is second-worst in the G-7

¢ In 1992, Canada’s total government deficit was 6.4 per cent of GDP on a national
accounts basis. Only Italy was higher among the G-7 countries.
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Canada’s total public debt of 48.5 per cent of GDP, on a national accounts basis, is also

the second largest among the G-7 countries.

This high debt level makes Canada very vulnerable to interest-rate developments.
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Large deficits have led to a high foreign indebtedness

e High investment demand during the mid-1980s coupled with large government
deficits has resulted in Canada having the highest level of foreign debt (both public and
private) relative to GDP of all the G-7 countries.
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Interest payments on Canada’s total foreign debt are a major contributing factor to

Canada’s large current account deficit, the worst in the G-7 relative to GDP.
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Spending must be controlled to keep taxes down

e Canadian governments’ total spending, relative to GDP, exceeds that in most other
(G-7 countries.

o Total spending of all levels of government, relative to GDP, was 13.5 percentage
points higher in Canada than in the U.S. in 1991.
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t an option.
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Furthermore, taxes on Canadian businesses will also be reduced by $2 billion over

five years.

The February 1992 budget introduced measures to reduce personal income taxes by
$7.5 billion in the following five years.

High spending has meant high taxes. These taxes impede Canadian competitiveness.

Raising them more to fund new spending is no
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The federal government has controlled program expenditures

e The Canadian record of restraining the growth of real federal government program
expenditures has been the best in the G-7 countries since 1984.
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As a result, the large operating deficits (the difference between revenues and program

expenditures) of the early 1980s have been turned into large operating surpluses.
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Expenditure growth is highest for major transfers to people

¢ The largest growth in spending has been transfers to people. After adjustments for
inflation, spending on government operations has actually fallen.
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* Twenty-three privatization initiatives have been undertaken. Through productivity
gains, privatization and rationalization, the number of employees of Crown
corporations has been reduced by 86,000 since 1984-85.

e In 1992 alone, the government eliminated or consolidated a total of 46 separate
government entities.

Competition encouraged ‘
The government introduced a modern Competition Act in 1986 to spur enterprise. r

Federal regulation governing financial institutions has been reformed to allow greater
competition among them.

The government has modernized delivery of support for regional development.
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CHARTING THE CHANGES

Tax reform increases competitiveness of Canadian firms

* Corporate income tax reform and the 1992 budget proposals greatly increase the
competitiveness of Canadian firms by putting them on an equal tax footing with
‘ U.S. firms.
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Labour market policies improve human capital

e “Active” labour market programs to improve people’s skills — and hence their
employability and earning power — grew rapidly after the 1990 unemployment
insurance reform. In 1990-91, the government spent $2.3 billion on worker
adjustment. In 1993-94, the total will be $3.8 billion.
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The FTA has also paid off handsomely.

¢ In spite of the recent North American recession and the appreciation of the Canadian
dollar, Canada has significantly improved its balance of trade with the U.S. since the
start of the FTA.

o A recent study by the C.D. Howe Institute showed that in the 1989-1991 period
Canada’s exports did best in sectors liberalized by the FTA, particularly the non-
resource-based manufacturing sector.

o The study also suggested that the U.S. continues to offer the largest and most dynamic
market for Canadian exports of high-value-added goods and services. This is an
invaluable opportunity to expand and diversify Canada’s exports beyond the
traditional resource base and promote highly paid, technology-intensive jobs.

o  Trade liberalization under the FTA has also attracted more foreign investment
to Canada.

Like trade, investment is critical to Canada’s prosperity. It raises output and productivity,
and provides more high-skilled, high-paid jobs. The FTA has been crucial in enabling
Canada to compete effectively for foreign investment.

Building on success in trade strategy

By pursuing the trade liberalization strategy, Canada will promote its international
competitiveness and high living standards.

We must persist in the GATT process to successfully conclude the Uruguay Round.
Successful conclusion of the Uruguay Round will bring sizeable benefits to Canada and
the world and avert the escalation of trade disputes.

We must ensure the ratification of NAFTA. The North American Free Trade area will be
the largest in the world, with a population of 361 million and a gross domestic product of
$7 trillion.

NAFTA meets three main objectives for Canada.

e Tt gains better access to the rapidly growing Mexican market.

e It safeguards and improves the gains made in the FTA. The value of trade between
Canada and Mexico is small, but Canada is increasingly in direct competition with
Mexico in the large and rich U.S. market.

e Tt ensures that Canada and the United States participate in the North American
market on the same terms and that Canada remains an attractive location for foreign
investment. Had the NAFTA been negotiated without Canada, the U.S. would have
been the main beneficiary, being the only country with privileged access to both
Canadian and Mexican markets. :
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CHARTING THE CHANGES
Canada relies more on trade than other countries
e Well over a quarter of Canada’s GDP comes from exports.

¢  The chart shows that among G-7 countries, only Germany is more reliant on exports
than Canada.
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Trade agreements expand access to export markets

Successive bilateral and multilateral trade agreements have led to the steady reduction
in tariffs on Canadian imports. As a proportion of the value of imports, they dropped
from a peak of 10 per cent in 1955 to less than 4 per cent in 1990.

The trade agreements have also expanded Canada’s access to export markets.
According to GATT, the average weighted tariff on manufactured products in the
world’s nine major industrial markets fell from about 40 per cent in the late 1940s to
4.7 per cent in 1987.
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The United States is the key market for Canada’s high-valued-added exports

The U.S. is by far the dominant market for Canada’s exports of finished goods.

Canadian exports of finished goods to the U.S. took off in the 1980s. Between 1980 and
1991, they grew 212 per cent, increasing from $17.4 billion to $54.4 billion.

In 1991, the U.S. purchased 89 per cent of the $60 billion of finished goods exported
by Canada.

Virtually all Canadian exports to Japan, and most to the European Community are
still raw materials and semi-finished goods.
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The Canada-U.S. Free Trade Agreement is paying off

* Arecent study by the C.D. Howe Institute showed that the FTA is having the
expected impacts.

¢ Canada’s merchandise exports are rising fastest to the U.S. and rising fastest in the
areas where the FTA liberalized U.S. trade barriers.

*  Similarly, merchandise imports from the U.S. are rising faster than other imports and
rising fastest in areas where we liberalized our trade barriers.

L e o, . g



INVESTING IN GROWTH 63

Canada’s attractiveness to investors has improved under the FTA

Increased trade liberalization has been crucial in making Canada a more attractive
place for foreign investment.

Since the FTA, as this chart shows, foreign investment in Canada’s manufacturing
sector (net of Canadian investment abroad) increased from $1.3 billion (1989) to
$3.1 billion (1991).
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Canada and Mexico already compete in the U.S. market

This chart shows the importance of direct competition in the U.S. market between

Canada and Mexico despite their low level of trade between one another.
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NAFTA ensures that Canada will continue to compete on an equal footing with

Mexico in the U.S. market.
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Excluding Newfoundland and British Columbia, roughly 40 per cent or more of total

exports of goods are to other provinces. This chart tells the story for each province.

Quebec, New Brunswick, Prince Edward Island, and Manitoba export as much to

other provinces as they do to other countries, or more,
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